360080e500017f4a8000010d14ba%a88 dm-2 IBM,1814

size=7.3T features='1 queue_if no_path' hwhandler='1 rdac’
| -+- policy="round-robin @' prio=6 status=active

sdbz 68:208
:7:1 sdfr 130:208 active ready running
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poli
0:0:
0:0: sdbp 68:48
1:0:4
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active

active

active
active

ready running

ready running

sdgb 131:112 active ready running
cy- 'round-robin @' prio=1 status=enabled
4:1 sdbf 67:144
5

ghost running
ghost running

sden 128:240 active ghost running
sdex 129:144 active ghost running

360080e500017f2e20000110e4ba%eae8 dm-4 IBM,1814

size=7.3T features='1 queue_if no_path' hwhandler='1 rdac'
| -+- policy='round-robin @' prio=6 status=active
sdbg 67:160
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sdbg 68:64
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sdaj 66:48
sdax 67:16

0
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0:0:7 sdh 8:112
]

1
p
0:
0:0:1:7 sdv 65:80
1

1:0:1:7

0:0:0:12 sdm 8:192

0:0:1:12 sdaa 65:160

1:0:0:12 sdcu 70:32
9:1:12 sddi 71:90

olicy='round-robin @' prio=1 status=enabled
2:12 sdao 66:128

2:12 sddw 71:224

sddr 71:144
:3:7 sdef 128:112 active ready running

sdcp 69:208
sddd 70:176
360080e50001712c00000a3c74ba9d733 dm-18 IBM,1814
size=931G features='1l queue_if no_path' hwhandler='1 rdac’
| -+- policy='round-robin @' prio=6 status=active

active
active
active

active

active

active
active
active

ready running
ready running
ready running

:5:2 sdey 129:160 active ready running
icy="round-robin @' prio=1 status=enabled
16:2 sdca 68:224
17:2 sdfs 130:224 active ghost running
sdfi 130:64
sdgc 131:128 active ghost running
360080e50001710e60000a5204bab0o@7 dm-20 IBM,1814
size=931G features='1 queue_if_no_path' hwhandler='1 rdac’
policy="'round-robin @' prio=6 status=active

ghost running

ghost running

ready running
ready running
ready running

olicy="'round-robin @' prio=1 status=enabled

active ghost running
active ghost running
active ghost running
active ghost running

active
active
active
active

active
active
active

ready running
ready running
ready running
ready running

ghost running
ghost running
ghost running

3:12 sdek 128:192 active ghost running
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